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1. Identify each of the following as exponential %WT or
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2. Identify each of the following as exponential growth, exponential decay, linear increase, or
linear decrease. C %ng”ﬁ% factx clonstan + ’:'{'»/ ’ﬁ
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a. Each year, enrollment increased by 20%. L?)(@pn{:‘nﬁak SM

b. The temperature fell 6° each hour. hinecrr decreas<

c. The value of the copy machine depreciates 12% each year. Expw\eﬁm,l dCC%
d. Each year, the company's profit increases by $40,000. [_i~&Lr Emm"f;

e. y=4(L05% Expunersiial griowsth
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. Because of poor economic conditions recently, a company's workforce has been

decreasing by 2% each year. EXponen~tiol de <oy

Graph the following and state whether it's exponential growth or decay.
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Use the following graphs for #5-8.
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Match the equation with its graph and identify as exponential growth, exponential decay, linear
increase, or linear decrease.
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Circle whether the situation is exponential growth or decay. Justify your decision by circling the
key word. Write an equation and solve.
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9. John has a job that pays $7.50 per hour and will get @ever‘y 3 months. What will his
rate of pay be in 2 years? (Growth or Decay -
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10. Inl opulation of Warren, Michigan was 161,000. Since then the population has
ecreased 1% per year. If the current trend continues, predict the popula‘hon of Warren in

2010. Growth or(Decay _ 9
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11, Since 1985, the daily cost of patient care in community hospitals in the US ha@
8.6% per year. In 1985 hospital co%z:v@n average of $460 per day Find the
approxuma’re cost per day in 2005 -Growth Jor Decay
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12. A certain pesticide kills half of the bug population in half an hour. The pesticide has been
working for 6 hours. If there are currently 165 bugs, how many bugs were there when the
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